WAT-BB 3 #e
= Ziwata TOHATSU
HER
#HE B
SI5C | mERE
A1 B2
L
L L1
- T
wdl T
Jll&S _ ) J -
— = ol o L. e S e
S| 9| e o 8 s 5
L @ 1
&S .
8|
B L2
B K f
=
dn S e 7 ) | B B | D1 L L1 k2 Ls m ETE
WAT-BB6000OM | 6000ZZ | 10 | 26 19
WAT-BB600IM | 60012z | 12 | 28 | ° . = M| 1B | 45 (8] NSxZ5
WAT-BB6002M | 60022z | 15 | 32 | 9 25 |185|160 |15 200 o
WAT-BB6003M | 60032z | 17 | 35 | 10 s | 195 | 170 [105 [ 210
WAT-BB600AM | 60042z | 20 | 42 | s | g 25 M8x25
WAT-BB6005M | 600527 | 25 | 47 , [ ' " s
WAT-BB6006M | 6006ZZ | 30 | 55 | 13 45 | 225 | 200 | 135 M10x25
WAT-BB600TM | 60072z | 35 | 62 | 14 50 | 235 | 21.0 | 125
WAT-BB6200M | 620027 | 10 | 30 | 9 5 | 185160 65 [200] o
WAT-BB6201IM | 62017z | 12 | 32 | 10 i 195 | 170 | 55 | 210 |
WAT-BB6202M | 62027z | 15 | 35 | 11 25 | 205|180 95 |20 o
WAT-BB6203M | 620327z | 17 | 40 | 12 30 | 210 | 185 | 90 | 225
WAT-BB6204M | 620477 | 20 | 47 | 14 35 | 235 | 21.0 | 105 M8x25
WAT-BB6205M | 620527 | 25 | 52 | 15 , |40 [245 |20 us | [ M0x25
WAT-BB6206M | 62062z | 30 | 62 | 16 45 | 255 | 230 | 155 0w 30
WAT-BB6207TM | 62072z | 35 | 12 | 17 55 | 265 | 240 | 145
m{ﬁ? HENIEIEAESHIES
Rl WAT-BB600OM
=R

ez i

REEER

EEEHEE A




